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2281 1 1 30 Shnp /12p./ I.JU hu,rur 40 225 9,0
301 9761 0 .[ruurrftut-r uu hrum 200 16 3,2
30197235 flrlpur Lq utr u.r! nbqJr u ur p lJu huun 1000 77 77,0
22851200 $.1, p4puqrubru! rqnlhdbnuthtr uu unnrrh 700 33 23,1
30197231 9.tt rJu r"n n rrlr 1200 33 39,6
301 97631 ft)nrr1p A4 Snndumh r.tu mnrrh 2200 113 248,6

; 3s821400 (( 4pn2 r.Ju huur | 600 11 17,6
35821400 (( 4pn2 r.Ju hu^rm 3000 5 1s,0

:i. 22451220 (u{uuunruqnbn 4-nn nuuunulb rJu hurn 150 60 9,0
I 39263200 cln ruu htr|ruL rut htr qnpbn uu hr-um 700 2 1,4

22451190 9n{ruurutruqn bn [r utuun rl nqnbn uu hum 170 r00 17,O
301 41 200 (ul2 { u.r u u pB qn u u btr I r.u tr rur htr lJu hr.utn 6000 5 30,0
301 92700 U2u!bpr"n u!utr q u1 drutr ruqpbp rJu hum 200 70 14.0

I 37821150 Uu{fr6 UU hq 800 25 20.0
30192740 flnrrlp qnrtrru{np, A4 dhruluqhh uu r-nnrrh 2800 5 14,0
301 921 21 epfl /qtralrL,.,r'lnn, frtrptr urhnu/ uu hurm 150 150 22,5
2281 1 1 30 Sburp / 4Bp./ uu h Luur 150 110 16,5
301 921 37 llumfrrn qnubhm b rlhonrlrnrJ, h r.uuun rulr uu hLum 100 110 11.0
24911000 Unu[rtrb hbrlnrll rJu hu-rm 500 22 11.0
39263200 9purubtrlu!rul Jrtr rlurnluLtrbn 70-200 ho UU huu 700 1 4,9
30197121 lrn6qrurl bnLuppu Ltu rnnLrh 200 l1 2,2
30197121 trn6qruf qpuuurfr.uub qrfu ht{nd rJu rn n rr.h 250 22 5,s

39263000 Unrugfrtr 4uuupr-ubqhtrbnh tu6h pLnrptuqhn UU hurur 500 70 35.0
0r 921 00 flbmfrtr hruuruptuLl UU hurm t50 33 50

i:39292510 PrutrnL qpuuurfrtl ttu h u.rrn 250 15 3,8
30197322 lunhl 20-50 pbnph hurftun tru hu.rm 1300 11 14,3
30197321 Lrunhl rlhtrlh 20 pbnrah hufrun UU hum 1700 16 27,2
301 971 11 Ltrunhth dbur urrlurlup b l4 ruqbp r.hnpp r.Iu rnnruh 100 16 1,6
30197112 9 rn hth rfbmurrlu.rlun b L urqbn dhqhtr UU mnrr.lr 150 16 2,4
24911200 Unufrtrd fdnrluf ur LJU huur 450 33 14;9
301 921 33 Upfrl unr{npulrutr 'uu

h rurn 250 22 5,5
301 99420 tr rqlnrtr pbppJrltrbp trrnrrlLbnh hrurlun r.Ju num 450 16 72
30234620 (fr2n r1n rpg rutr Lrnht 4GB uu hurm 6000 4 24,0
301 97340 Uququtnht rJu hLuur 150 4 0,6-
39241210 LI ! p u r.n qp u u btrl ru ! ur I Jrtr rJu hum 5s0 5 2,8
301 92125 Urup14bp r.tu hruur 200 t1 2,2
3e263520 Ubrpftul.a ,Jhqht, r.tu urnrth 350 12 4,2



,30192160 c /nt uu lrutul 250 33 8,3
301 97332 '[ruLhr /durbnurhl' rlhohtr/ uu hutn 1800 l1 19,8
301 92230 U 1.1n1 bp!t1nn f rutrh unutrdd u6 uu huun 250 27 6,8
39263410 Urlpu14 dhmunpu thnpn uu mnrr.h 200 13 2,6

SLSbUUt{UL UqnULPLbn
39281100 (nr2utr{bpbbp rJu huu 6000 '10 60,0
39831240 nu[u2u lJu hurn 350 100 35,0
39831245 06run hbr1nrtl UU huur 500 100 50,0
3,98:t1241 06un hbnp[r UU lr ru ur 150 120 18,0
39831247 drurfbl /finp/ uu h urrn 350 130 45,5
39836000 [rlb1 un{npurlutr uu huur 1000 30 30,0
39831 000 L{rugpfr r.hn2fr uu mnrri 350 70 24,5
33761100 2nrquputr[r pnrn1a r.tu hruur 150 300 45,0
3922433 rln111 qluuurrluub uu huur 800 6 4,8
3922434 Urlpru drutr q 1r.u u r.n dLu u b uu htum 700 20 14,0
39513200 tlbdbnngfr! pnpb IJ LL mrrLr-fr 250 100 25,0
3951 3200 Ubdbnnghl.{ funburl UU mnr-rh 800 50 40,0
18421130 ObntrngLbp nbmfrtrb uu q n rlcl 400 40 16,0
31531220 Elblurpullutr 1uilq 150V r.tu hu.rrn 250 150 37,5
31531210 h1blrnpul.lutr lurlq 60V, 80V, 100V rJu hum 100 150 15,0

::..!1 39912410 tr ruhn rlpJr rfr ru1 1bg dutrtIhSnS r.tu huur 800 20 16,0
39837000 3ur[uru{h1 uu hurur 1700 15 25,5
3981't300 (nmruqhpdhl onh ttu hurr | 000 15 15,0
31 685000 bpf4upurgdrutr lup /2[, 5[, 1Of,/ tJu hr-um 3500 5 17.5

i 3e831271 U qnrLq u urtr h frqfr btr fr L1 uu hurul 300 50 15,0
3981 21 00 (ur"nLulllr dLudJrll /duuur Jr!u/ r.Ju hr"uur 1 000 100 100,0
31 651 000 LIbllnrufl duqruqhb uu huur 300 l0
39839000 2nrqruputrlr fu nqutr ul.1 UU hruu 650 l0 6,5
18311190 lu.[-p Ltu hr.uur 12000 4 48,O

1 e641 000 SnqpruLl u4pfr r.Iu hruur 3s0 50 17,5
39831246 Uqulh t{uLutnr hbqnrtl uu huuur 500 30 15,0
39831282 <Dn2nr pup UU h ru rrr 150 50 75
39831 283 (ururrull]r lurp UU h urur 750 40 30,0
39s22330 Ubrlutrfr 2np ttu hr.uur 5s0 70 il,0
tr01e223-O U14n1 fb6 ttu huur 500 10 50
3383.127i 2nrquputr[r duppf rutr bt nrpbn lJu huur 600 30 18,0
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tuilub 1{utrulnr hbqnrl4 /Sfinp/ Ltu hu,rur 1650 2 3,3
urlpurrlutr nrntru!n{ r.tu huur 4500 2 9,0

1 951 1800 Unrunpfr nbqlrtr uu huLn 8000 5 40,0
1221240 Fnpn 8*50 r.Ju hutn 35 5 0,2

31221240 Cwlpw /"25 IJ LI hurur 10 0,1
31221240 QLul!u MB r.tu hr,uur B 10 0,1
31211120 hnuubpfr rnnrqh 1mhq. ulr LJU hrum 50 4 0,2^

31 651400 Jrqrulbtrun !.n.Ihn UU htuur 200 1 0,2
31651400 ]rqulbtrur urqJrrnruQ r.tu h ruur 200 I 0,2
31 651400 ]rqrulbtrun luulnqrn r_Ju huu 200 5 l0
3t 651400 frqulbtrm ul.r rJu hum 200 5 10

r 520000 qur4r{butrn;h t-r.iq ,Ihlht 827 60r{m R63 UU h r,u ur 350 3 tl
3l 521 21 0 lek 1b4 lurlq A60 20 {ur E27 urqJrururtl uu huuur 1400 1 2,8

211230 45102 makel 2mbqgbl 1 rnbq r4rur.nfr uu hum 700 1 0,7
112 Anura 2r"nbqgh1 pbd AE02205 uu hum 7s0 2 1,5

Anura {Jrl41nr1urnb1 pbd AE02201 .uu hum 850 5 4.3
Mitsubishi bnu$ruq ru{r.nnfrum 50A uu hrum 3300 3.3

44521210 'Inurtr rrh ru!tutr lr dfrpnrll LJU hr"uur 1400 30 42,O
, 445)1120 lnurtr r.hur!utr rJu huur 2600 20 52,0
39835000 (ruunru! Lluppblnr th-tr.n IJU hr-ur-n 1 200 6 72
44411110 Qpfr dnpu!, {ru!rutrtrbp rJu htuur 5000 30 150,0
445r1110 Fruh r.tu huur 3000 5 15,0
44s11120 Qnqrup[ru11 UU hrurn 200 15
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{bputrnpnqnrd /duubp, qupruqrutrbp,

trrnrrabn, ptunlanhgh thqpuqnnnr[/

uu 4ptud 150000 I 150,0

501111?O ( rr r rI rrr L ur n cr,, u.r r h L d ur nur t n rla t n Lb l-r b n IJU 11p tu rJ 95000 95,0

92220000
(u1r,n upup n rp1 n rtrtr bp Jr tn br1uryp n LrI

(hbnnruur rutn bun rpln rtr, pbppbp/
UU rlnrud 150000

,| 150,0

7525 | 1 00

.1..

(rul4uhp4bhu.;f b 6u nu1 nrp; nrtrtrbp

,/Sfurumup, o+tumtun nrqfrtrbplr umntqntd/
tru +ntud 45000 45,0

5 0{;31110
t-r ru pu ruj uLn tutr h u 1.1 u h p 4bh u1 JrtL

r.,h n pd Luptrb n rp1 utr 6ur nrul n rp1 n rtr
tJu ryp Lu rl 41220 41,2

505311 20
l-ltr r{Ln Lutr qn rpl utr r.h n p h rupbL n rp1 utt

drunulnrralnrtt
LJU ryp Lu LI 60800 I 60,8

653'i1100 h1bl.1rn pufbbnqh -t h pu2[u rftub dunul n rp1 n t ttu rlnrud 750000 1 750;0'

652',t1.t00
$tuq.h ptu2fuiluL [t +n- hbr,n l'1uu1{urd

6unrutnrlatnrtrtrhn
uu 4ntud 5000000 I 5000,0

6^1210000
(bnru fu n u u1 Jrtr h ur r! u 1tr b p [r {r n fu LuL I riutr

dr.unurrnrrarnrLr
uu 4p Lu LI 59000 1 59,0

651 00000
apf pLu2fudub h 4pLu hbm ltuq{ud
6unurnlratnrtr

LIU r1p Lu LI 756000 i56,0

90500000 Unph t prurfrntrlr hbm l'1tutr.l{ud drunulnrp.;n tJu +ntud 1 00000 1 100,0

90500000 \n rln rb ru1 du nurl n rp1 n rtr / 4hnru r.n ]rqtu gh 4 uu +nLud 144000 1 144,0

/61311 00

Qruquoqur uqn pdn q uuppru{n p n rdtrbpfr

Lnbfu. Uquu. Lr lrupqrupbpdutr
&runtutnrtatnrl.rbbn

r.Ju +n rud 57000 57,0

7 91 31 300
E1b 1,1 ur p ntr Lu fr tr u m n p uqp n tp1 tutt

h rurl ruutn ucrn dLub dru ntut n rpt n rtrL tn
tJu rlpLuLI 3000 2 60

796:t1200
U2fu u ur ulllr gt, hnh {bpuq Lutrr p tu u ur drutr

6unulnrplnrtr
UU 4purI 24000 l6 384,0.

s061 1 200
tr p ru 1.1 rI ur p fr 1tr b p | {b p u ilr g p ur''ln p il urtr

6unrulnt]alnrtr
ttu r1n uril 8000 I BO

5 061 r 200
tr p ru L1 ilru p Jrtt, b n h tlbp ur fr 9B ur t{n p rlutr
,lrrrnurrnrratnttt

tiu lpLud 6000 7 42,0

/9411210
QtrnLdtrbpfr hbrn l.1uq{rud

h nn hnnutnd ruULutr du nul n tlal nrtt
UU rypLuLI 240000 1 240,0

45311127 (nuurtrBh dul nrfu fr utrg 14 ug rJrutt r.Ju nnud 650000 1 650.0

98111140 ( b ft tr u 1.1 u; Jrtr h u \ n r1n rpl uL 6u nrul n rpl n rtr UU nntuJ 22800 I 22,8

7 | 351 540 S b lutr h ll u Lr utr h u ! n r1n rpl rutr &ru nrul n rp1 n rt'r rJu +nud 76000 I 76,0

/1',241240
1, rufu Luqdbp I qur,n p tu utn f ruL drufu u bp Jr

crtruhumnrrl
UU +n|'uf 120000 1 120,0

@ n ph urptrtr n rp.; utr du nrul n rp1 n ttr IJU rlpud 40000 1 40,0

8041 0000 fu n h u p upfr du ur n rg rlutr drunrul n rp1 n rtr IJ LI rlpLu,l 936000 936,0

cLGushq LnnnqnFu

45211113
C btrp-2frtr n rp1 utr {h p utr n p nqdutr

u2[uruLnutrptrbp
4p Lu LI 4267000 1 4267,0

Cbnutlbbn 24666,1

ehtthuquL L3nNr}bn
| 4300000 +frsbpf'b UU r1p Lu LI 1 600 1,25 2,0

| 4300000 r.urluppnr /rI LJU 4p Lu LI 500 2,4 12

14300000 d6rlpurllrutr ppnr/U. U. 4 r.tu 4nruLI 833,3 1,8 1,5

t4300000 F rup fr n rrllr p1n p lr 4/rn b futt UU nnud 1500 1 1,5

12f 300000 dLuqL bqfrn rdfr duqru{btr 25-g Fi ndel r.Ju +ntud 3500 2 7,0

1,,f 300000 ,Ibpht opuLd UU rlntud 30000 0,05 1,5
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44511170 <Dnqtu uu huur 2000 5 10,0
3 | 6841 00 4Lup4ul.1 r.Ju htuur 700 l5 10,5
3t 686000 funnq tJu nutur 400 10 40
44521170 trnqlgbp r.Ju h[uu1 2200 15 33,0
44s21120 ii4uitr qhtu!rutr Lru huur 5000 10 50,0
445212 *rtijtr'rutrh fhonrLr uu hum 1000 l0 '10,,0

44191' ?nurfu pntruLl uu huur 700 10 70
qNF3P

39121470 ubnutr 6rurtunr.uLh Lru hutur 45000 8 360,0
391 21 1 00 ulann dLurunrutrh r.Iu hrurn 9000 60 540.0
39s15440 nrrlluh ru1 rug 2bp r"n u{un urqn U n uu prI 5800 46,25 268,3

u'rlnnsu3hL qnh3e
37451290 QtrnuL $nrmpnrh r.Iu huur 8200 8,2
37451290 Qtrnutr bnrurpnth uu hru ur 3200 3

37451410 $trarul4 puul.lbur pn t h uu huur 61 00 2 12;2

37451411 $tr 4ur 1.1 pru u 1.1 br.n pn 1]r uu hrum 3250 2 6,5
37451580 9tr4rul4 {n1b1pn1fr UU h ruur 4000 4,0
31151180 oryu[4fr1 UU hr,uur 650 o7

ULL'}UUlabNP
15B72400 u11 q< !q 180 36,27 6,5
15421100 Unhru6runUh 6bp q< th urn 750 187,2 140,4
15614200 Fnhtrh q< Lrq 400 280,8 1'.t2,3

3221110 Qruqup q< lrq 350 173,16 60,6
15331151 Lnph q< !q 1 000 117 117,0

:\2:22128 futrdnn q< hq 300 117 0 351,0
3221410 lr urlurlp q< trq 200 585 117,0

3221 1 00 Fruqnrll Ll< !,t 350 117 41,0
15311100 Qrupr"nn$frg q< !,r 300 538,2 161,5
15112150 (rutlh Lndpufhu q< !q 2500 234 585,p
15811100 (ug q< lrq 400 1755 702,O

1 561 6000 (LnUrududun q< trq 400 234 93,6
3142510 Onr q< hum 70 4680 327,6

1 s851 1 00 [ILu!upntr cl < q.l 400 234 93,6
::331154 fllnn c)< tJq 350 117 41,0

r 5331 1 53 0 u,r{ liq 550 117 64,4
1 s541 200 'lubhn +< Lq 2200 210,6 463,3
1 5s51 600 Urudnrtr q< trq 500 70,2 35,1
1 53331 00 Sndrutnh du6nrU q< !q 900 28,08 25,3

uLLrluurabne
15,872400/1 tI11 q< Lrq 180 37,0 67
1s421100/1 Llptrudurrlllh 6bp q< rh urn 750 190,8 143,1

1s614200/1 Fpfrtrd q( lrq 500 286,2 143,1

3)21110/1 9u.rqLup q( qq 350 176,5 61,8
| 53311 51 /1 Lnph q< !q 1 000 119,3 119,3
3222128/1 futrdnp q< !q 300 1192,s 357;A
3221410/1 lrunu.rfn q< !q 200 596,3 119,3
3221100/1 Fuqnr[1 q< hq 350 119,3 41,7

t5311100/1 trrupr.nn$|r1 q< !q 300 548,6 164,6
15112150/1 (rurlfr !pdpudfru q< !q 2500 238,5 596,3

581t100 (-g i-\ qq 400 1788.8 715,5
I 561 6000/1 4trnllrudru{run q< !q 400 238.5 95,4
314 tnr q< huur 70 4770,0 333,9

1 585i 1 00/1 Utu!upntr q< Lq 350 238,5 83,5
,,. i5331154/1 fllnn q< qq 350 119,3 41,7

i 5331 1 53/1 0utl lrq 800 119,3 95,4
15541200/1 n|utrhn T\ !q 2000 214,7 429,3

_liq49!94 [Irudnrtr q< !q 500 143,1 71,6
rs333't00/1 SnrILurnf rludnrll q< !q 900 28,6 25,B
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qhnpdutrnp prupruufr[rl.1urm 1 6*1 50dd 1 5f1

r4300000

| 4300000
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